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Instructions
1. All questions arc of objective type having four answer options for cach. Only one option
is correct. Correct answer will carry full marks 2. In case of incorrect answer or any
combination of more than one answer, % marks will be deducted.

2. Questions must be answered on OMR sheet by darkening the appropriate bubble marked
A, B,C,orD.

3. Use only Black/Blue ball point pen to mark the answer by complete filling up of the re-
spective bubbles.

4. Do not make any stray mark on the OMR.

. Write question booklet number and your roll number carcfully in the specified locations
of the OMR. Also fill appropriate bubbles.

6. Write your name (in block letter), name of the examination centre and put your full sig-
naturc in appropriate boxes in the OMR.

7. The OMRs will be processed by electronic means. Hence it is liable to become invalid if
there is any mistake in the question booklet number or roll number entered or ifthereis
any mistake in filling corresponding bubbles. Also it may become invalid if there is any
discrepancy in the name of the candidate, name of the examination centre or signature of
the candidate vis-a-vis what is given in the candidate’s admit card. The OMR may also
become invalid due to folding or putting stray marks on it or any damage to it. The con-
sequence of such invalidation due to incorrect marking or careless handling by the can-
didate will be sole responsibility of candidatc.

8. Candidates are not allowed to carry any written or printed material, calculator, pen,
docu-pen, log table, any communication device like mobile phones etc. inside the exam-
ination hall. Any candidate found with such items will be reported against & his/her
candidature will be summarily cancelled.

9. Rough work must be done on the question paper itself. Additional blank pages are given
in the question paper for rough work.

10. Hand over the OMR to the invigilator before leaving the Examination Hall.

11. This paper contains questions in both English and Bengali. Necessary care and precau-
tion were taken while framing the Bengali version. However, if any discrepancy(ics) is
jare found between the two versions, the information provided in the English version

Y will stand and will be treated as final )
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Biological Sciences

1. Which one of the following is a characteristic feature of the class Mammalia?
(A) Pncumatic bones (B) Synsacrum

(C) Seven lumber vertebrae (D) Seven cervical vertebrae

fre R SUeid o sl e o
(A) IWEF (B) FeiRr
(c) 7refs R IS (D) ST ARSEIE IR
2. Which of the following is a sensory cranial nerve?
(A) Vagus (B) Abducent (C) Oculomotor {Iy Onptic

W5z HE TRSRE IO L2
(A) oM (B) URTETS (C) wR¥eEmms (D) =T
3, Which one of the following cell secretes HCI?
{A) Pancth cell (B) Peptic cell
(C) Oxyntic cell (D) Gastric- G cell

e @F @b HCl w1 $E?
(A) 20 TP (B) =T
(C) wfE=hT =H (D) TF%T - 6 M

4, Which of the following vaccines protects from hooping cough?
{A) TT {B) MMR (C) BCG {Dy DPT

R W Dl ‘eFe-Tw W T T

(A) TT (B) MMR (C) BCG (D) DPT
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5. Which part of the nephron is engaged in glucose reabsorption?
(A) Distal convoluted tubule {B) Henley’s loop situated in renal medulla

{C) Proximal convoluted tubule {1} Henley's loop situated in renal cortex

TEFCH @ W e FAReiEeE wey AEiEe?

(A) HF RIS (R (B) I WO SRS ZAE S o7
(C) =fat RIF il (D) Y& IBEH S & o
6. Crossing over in a meiotic cell takes place during
(A) Pachytene of Prophase- 1 (B) Diplotene of Prophase —I
{C) Zygotene of Prophase -1 (1) Metaphase -II
ol NebT PR ThivseR R =

(A) TATFS- | a9 *GRIE0eA o=m  (B) @S- 1«3 Rraifea i
(C) TATFe- I «F SRy W (D) oS- 11 WeIg

7. In which of the following events phragmoplast is related?

(A) Ascxual reproduction in algac (B} Ascxual reproduction in fungi

(C) Cell elongation in plants (D) Cell division in plants
e @R Oafba T TR TRy
(A) CoIRICETR S o (B) W S G

(C) Gfev @IEe o= ger ) o e Remm

8. Xylem is a type of
{A) Simple tissuc {B) Meristematic tissue

{C) Complex tissue (D) Reserve food material in plants

TN T GF Y9
(A) = =1 (B) SET F&l
(c) =fo=1 = (D) TR iz s 4 Awd
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g, The enzyme that is necessary for sced germination is

{A) uamylase (B) Gelatinase {C) Lipase () Proteasc

e YRR T WS GBS 28
(A) o SUEIREE (B) feEoee (C) FiErE (D) hEs

10.  In human, Addison’s disease is caused by
(A) hyposecretion of growth hormone (B) hyposecretion of thyroxine

(C) hyposecretion of glucocorticoids (D) hyposceretion of insulin

ARLE. SO, @ 905
(A) T TRCAIAE SEriw (B) URAfECT SEAwa

(C) AEFRBFETT S Ha (D) TP SeerEd

11.  Which chronic respiratory disorder occurs due to cigarette smoking?

(A) Asthma (B) Emphysema C) Bronchitis D) Apnoea

@ RS Profe DR HoiEs Grim SR 9052
(A) wores (B) SR (C) Zk=EHH (D) gEEE

12.  The ribosomal RNA having sedimentation co-efficient of 168 is found in
(A) Bacterial ribosome (B) Eukaryotic ribosome
(C) Virus (D) Malarial parasite

16S SHerFwq GoF-F, RN S GH 9 7 [
(A) orfREe gigEcE (B) WwifRelhs aiEmwem
(C) wiZar-a (D) W= &S
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13.

14,

15.

16.

Which of the following protein is the major component of mitotic spindle?
(A) Actin (B) Myosin (C) Tubulin (D) Myoglobin

ERE mF ibAD AT Feioa g7 2y Semm?
(A) =ofes (B) wwBm (C) BoRekw (D) WS

Which of the following plant groups is known to produce sceds?
{A) Bryophytes (B) Pteridophytes
(C) Algac (D) Gymnosperms

FERe @r Sevge At e
(A) IFFHAT  (B) GROSRFSGT
(C) == (RE) (D) Rar=inf (Ieda)

Ball and socket joint is found in
(A) Knee (B) Skull (C) Shoulder (D) Atlas and axes

‘THT 8 WID A WA IW
(A) &G0 (B) S@Mes (C) Fw (D) U - SUiEnt-«

The enzyme present in lacrimal gland is

(A) Diastasc (B) Ligase
(C) Lysozyme (D) Pyruvate dehydrogenase
SRS TS Bl =

(A) D (B) =Higpre
(C) =idri=iagm (D) ~iiZweb RyNGRES
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17.  Which of the following factors prevents the formation of blood clot within blood vesscl?
(A) Heparin (B3) Fibrinogen (C) Factor VIII (D) Thrombin

e =Seflem 0 wRD TR SCeE 16 G965 S I/ e
(A) Tifem (B) TREFEmEN  (C) eI VIIL (D) aifH

18. Which one of the following muscular /skeletal disorder is due to auto immune dis-
ease?

(A) Tetanus (B) Ostcoarthritis
(C) Myasthenia gravis (D) Gout

e @R et 3 o (TeE) e SrrEelb wh-aReT BT a7 SR Wby

(F) BE () wFBeegiaha
(o) e wfew (]) IS5 <1 oG Ir®

15. Which of the following is a stop codon?
(A) UAG (B) GTA (C) TTT (D) AAA

e RE o= a3 59 mear
(A) UAG  (B) GTA (C) TTT (D) AAA

20.  Cross pollination by wind is called
(A) Ancmophily (B) Malacophily (C) Entomophily (D)) Ornithophily

I E WS TS ARPREAPE W&
(A) weRE  (B) oE@RE (C) o (D) = i
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21. Grana are associated with
(A) Light reactions of photosynthesis
(B) Pollen grains of angiosperms
(C) Dark reactions of photosynthesis

(D) Both light and dark reactions of photosynthcsis

HF-GE AN A AEE
(A) SAERREER e &
(B) @i samag
(C) ArERFEED wHeE [
(D) FACETRLAEE W G TFE &

22, Axis axis is the scientific name of
(A) Spotted Deer (B) Musk Deer
{C) Antelope (D)) Barking Deer

Axis axis (@& D ==
(A) foos 2= (B) Fg THe-a

(C) J=o1a & 91 (D) =R 26 gn
23.  'Which of the following enzymes is associated with conversion of trypsinogen to trypin?

{A) Aldolase (3) Entcrokinase
(C) Cholceystokinase (D) Diastasc

FaeRe ©F torel Brfiries © B wrirRs sae gy sE?
(A) U= (B) IHIARTIEE
(C) wieFicBrrame (D) SHFEE

24,  How many molecules of oxygen can be carricd by one molecule of hacmoglobin?
(A) 6 (B) 2 (C) 8 (D) 4

g o R am o @ wfie AFRRE TS Aiwe
(A) 6 (B) 2 (C) 8 (D) 4
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25.  Which one of the following cells is round and bi-concave?
(A) Nerve cell or Neuron  (B) Eosinophil
(C) Erythrocyte (1)) Basophil

Siow el Ser @B cleeR ¢ B-sgeeary
(A) FrEEr 9 FeEm (B) TR

(C) aRwrim (D) woiRes
26. Bruner’'s glands are found in
{A) Ocsophagus (B) Stomach (C) Duodenum (D) Liver
A & SR |

(A) aFmAs (B) ARl (C) ReRmm (D) wgR-a

27. Testosterone is a

(A) Tropic hormone (B) Gastro-intestinal hormone
(C) Steriod hormone (D) Pheromone

GUICSER T 990
(A) THPIT ZFE (B) A& 2R
(C) THIT ZTWH (D) TEERICTH

28. Which onc is the smallest musele in human body?
{A) Sartorius (B) Stapes  (C) Stapedius (D) Spinal musecle
FRUR FEST T TIRG?

(A) BEE®  (B) oW (C) wHPifsam (D) =iZAE v (CERE T
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29. Inwhich phase of ccll division recombinase enzyme participates during gamete

lformation?

(A) Prophase-I

(B) Prophase-II

(C) Metaphase-I

(D) Anaphase-II

WG BAM AV 1 Romew @F Wi fofive Srve wenz 3@

(A) TRITEFS- (B) TANTE- (C) WS- 5 (D) SHITE-]
30. Maich the contents of column I with that of column II
Column [ Column II
a) Acrosome 1. Steroid
b) Prostaglandin | 2. Ovum
¢) Corona radi- |3, Zygote
ata
d) Cleavage 4. Sperm
(A) a-4, b-3, ¢-2, d-1 (B) a-1, b-2, ¢-3, d-4
(C) a-3, b-1, ¢-2, d-4 (D) a-4, b-1, ¢-2, d-3
ws | ¥ e Reum wer o8 11«7 Raem me 929 59 :
Column 1 Column II
a) SOGFITST L oS
b) BTG | 2. e (fE1)
¢) TEF BTG | 3. A
d) freer 4. =i (SFIq)
(A) a-4, b-3, ¢-2, d-1 (B) a-1, b-2, ¢-3, d-4
(C) a-3, b-1, ¢-2, d-4 (D) a-4, b-1, ¢-2, d-3
31.  Which of the following parasites has no intermediate host?
(A) Fasciola (B) Taenia  (C) Plasmodium (D) Ascaris
e Rl oo PRbT wES! i w3y
(A) Fasciola (B) Taenia  (C) Plasmodium (D) Ascaris
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32,  The primary building blocks of a RNA are
(A) Nitrogenous bases, phosphates and ribose sugar
(B) Nitrogenous bases, phosphates and deoxyribose sugar
(C) Phosphorous bascs, nitrogen and ribose sugar

(D) Phosphorous bases, nitrogen and hydrogen

RNA«T #efie soma Toimm o ==
(A) TGS 96T [A,FFE <R AR ==Fq
(B) FIHGEA 96S @9, TE6 e TEREEe ==
(C) T (], G GR XS <=l
(D) TR 3, YR I8 aGIE

33. Which of the following clements is a component of chlorophyll?
(A) Magnesinm (B) Manganese {(C) Iron (D) Zinc

ffERe tiaske Ty EFb @EEEE Sime?

(A) OriEEE (B) SUPHAE (C)=ma (D) f&re
34.  Which one of the following plant hormone causcs apical dominance?
(A) GA; (B) BAP (C) ABA (D) IAA
FAFRT @H Btn @Rl wew I 9BEe
(A) GA; (B) BAP (C) ABA (D) TAA

35.  Olfactory organ of snake is
(A) Jacobson’s organ (B) Jackson’s organ

(C) Johnson’s organ (D) Lateral line

NPT gt RIS S 28
(A) ST & (B) EIAHE WH
(C) S == % (D) =P
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36.

37.

38.

35.

Pacemaker and Pace-setter of heart are:
(A) S.A. node and AV node (B) A.V.node and *Bundle of His’
(C) S.A. node and papillary muscles (D) 5.A. node and Sinus venosus

TR IS 8 IR T
(A) S.A. TG 8 AV. G (B) A.V.TIw @ ‘fer’s e
(C) S.A. TIE @ e i (D) S.A. IS @ AZAA [SHEAM

Which of the following insecticides is obtained from Chrysanthemum flower?
(A) Rotenone  (B) Pyrethrum (C) Nicotine (D) Cinerine

5 RS FoArT off| R ravEe 39 =T Sined T3
(A) @b (B) *HiZmE= (C) Pz (D) AR

Select the correct statement:
(A) Acctylcholine and noradrenaline are hormones
(B) Vitamin D acts like a hormone
(C) Insulin is a lipase

(D) Epinephrine is relcased from sympathetic postganglionic nerve endings

o R e <
(A) =UIFBIEE @ifFF @ Fa-suifglem = e
(B) FOBIfEA- D Tt 75 Tl A
(C) Tviem =1 b IR
(D) Frroefes wig sifEmRes Ay o mee e Wi 2

Which of the following structures contains xiphoeid process?

(A) Skall (B) Pectoral girdle (C) Sternum (D)) Pelvic girdle

o d4em FaERe @R Wby e
(A) I@G  (B) RGEE 5iga (C) “BiE=™ (D) Efes e
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40.

41.

42,

43,

Which of the following disease is not cancer?

(A) Lymphoma (B) Glaucoma (C) Sarcoma (D) Carcinoma

A o R R e |
(A) o=t (B) e (C) ARGt (D) TG

Extranuclear DNA is found in
{A) Lysosome and endoplasmic reticulum
(B) Chloroplast and mitochondria
(C) Golgi body and lysosome

(D) Golgi body and endoplasmic reticulum

IEACHR Bam.a wa
(A) =TEAREN ¢ «reiEe EEg

(B) IEmE ¢ qRBR=GaE
(C) = @ ¢ I
(D) ~=f 3 ¢ et whyemm

Which of the following structure is modified to the lid of pitcher in pitcher plant?
(A) Leaf apex (B) Leaf base (C) Petiole (D) Lamina

R W 50 o0 TR T0rR o wieiRe o3
(A) o =i (B) fore, @&t (C) wibw=t (D) =011

Which of the following ferns perform nitrogen fixation?

(A) Azolla (B) Marsilea (C) Dryopteris (D) Salvinia

R wifefn o wHG TIAGEEE IR WS AE?

(A) Azolla_  (B) Marsilea (C) Dryopteris (D) Salvinia

Biological Sciences {JE-1) 13 xx8(2)




44,

45,

46.

47.

43.

Biological Sciences (JE-1) 14 X¥3(2)

Single celled eukaryotes belongs to

(A) Monera (B) Protista (C) Fungi (D) Archaeca
IR FEFNHEET T e

(A) = (B) weiie=1 (C) &R (D) R
An example of retrovirus is

(A) Pox virus (B) Human immunodeficiency virus

(C) Rota virus () Zika Virus
EGreIsan 7 ol Suigad g

(A) 1% Sigam (B) REum SRCrreH R eigam
(C) it eigam (D) = oizam

Which of the following is a major component of ligament?
(A) Collagen (B) Elastin (C) Myosin (D) Reticulin

FafeRvslm T R FEHTs 9@ dum TrimE 2
(A) A (B) Z=Fo (C) IEFw (D) whRerEw

Agents that cause cancer are called

(A) Carcinogen (B) Mutagen (C) Xenobiotic (D) Toxicant

W e TG I TRIGER T A SIoE W

(A) TrRFAEE (B) FICBRE (C) mwRERE (D) GRErS

Swim bladder is present in

(A) Star fish (B) Chondrichthyes (C) Ichthyophis (D) Rohu fish

AN rer (7)) Wi IS

(A) S& W (B) FwigReT (C) TR (D) %2 W



49.  Anticodons are found in

(A) m-RNA (B) -RNA  (C) r-RNA (D) sn- RNA

SO TeRS R WE I

(A) m-RNATS (B) t-RNA 79 (C) r-RNA T (D) sn- RNA ®

50. Antibodies are synthesized by

(A) B-Lymphocytes (B) Phagocytes
" (C) Helper T- Lymphocytes (D) Killer T Lymphocytes
w5 MeRe 2@ 3w @

(A) B-BgmIRE (B) TIEIRTIZET
(C) o= T-Fremizsa (D) Rarl T-Fr<emizsT
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G PPIPIEE TR N3 wEEee 2wt #fSh erde s e Tee tedl |nE
Tm =l W 3 A Tew Pt 2 wE ~iA) g Ben fAw o gt Bew
W v =92 36! I

OMR @ A,B,C,D Bf%Fe 7w 5= b @ Ten fars ==
OMR *ie T&a firs sy S A1 S 99 #0s v JREE F96
OMR #ita g JW 2ol == e 3 Aef 7 =i

OMR *i@ FifR8 FE axrices 799 99 e @e 19 S ARy=sE Ay e
@GR, AEGEA T TFd TS T

OMR #it@ 8 I e A @ ~{Absl @rga "W TRes g9 9 fem 7=
Ared e =

OMR TEa=@i} EEFHT WER AYET 7o A TR AT 799 I WA 479
WW@ﬁWWWWWﬁWWW| Gl
s i, #fR RCER AN TR ©F g e Ted Ad e 1w
A@ OMR TEewia S e A OIS ST A g e A WS A
Rl @ 42 g A SPEISE T Baartd Jifee TE avwa ARl R
SR G A AR

TIRIZECE, eTEEine, Favwe, ambe, ERIv, afF 1 W SRR S #fim
J0E W] I AN S O WEAG D G, AN 63 A A I
Al

AR CIE 3T I TAE &0 S Tl (STl WE) W @F Ire 92 FE
InE FEE Al

3=t % YOE Wil OMR 7@ W 3 siffniere fw ane)

@3 2o BeRIGT € e TOY ORISR A% (ReT WiTE eE W oA (SA
T AEEE ATS 8 TS OReTE Tl R O g8 W H SIS T
9 TA, IS A6 e wew o4 39 ¢ poe i REbT ZA@

vy
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